
EN	 Assembly instructionsLesezeichen

Vivenis
75410XX8

Logis
71410008

Metris
31494008

E / S
13414008



2

SW 2,5 mm 

1.

2.

98128000	
(13x2)

15 30-35

33

15

X mm

 
Armaturenfett

Grease

3.

2.

SW 8 mm / 
SW 12 mm

1.

4.

Silicone (free from acetic acid!)

1

2a

3

Montage



3

E / S
13414008

SW 3 mm  
(2 Nm)

30 - 35 mm

If the water is flowing along the 
fixture in the direction of the 
shaft, the spray former must be 

replaced with a standard air bubbler 
95928000.

SW 2,5 mm  
(2 Nm)

SW 3 mm  
(2 Nm)

Vivenis
75410XX8

Metris
31494008

30 - 35 mm

30 - 35 mm

SW 2,5 mm  
(2 Nm)

Logis
71410008

30 - 35 mm

SW 1,5 mm

1. 1.

1.2.
2.

2.

Vivenis 75410XX8

> 2 min

SW 1,5 mm 
(1 Nm)

4a 4b

4c 4d

5 6 7

Montage



4

3 0 - 3 5

G
3

/
4

E / S
13414008

Metris
31494008

3 0 - 3 5

G
3

/
4

Logis
71410008

19 5
2 0 6

□
7

9

1
0

3 0 - 3 5

3 5°

G
3

/
4

Vivenis
75410XX8

3 0 - 3 5

2 0 2
211

1
8

35°

6
5

Ø
G

1
/

2

MaßeMaße



5

P max. 1,0 MPa = 10 bar max. 60 °CT

E / S
13414008

ba
r

4,5

0,0

0,5
1,0
1,5
2,0
2,5
3,0

3,5
4,0

5,0
0,45

0,00

0,05
0,10
0,15
0,20
0,25
0,30

0,35
0,40

0,50

5,50,55
6,00,60

0 3 6 9 12 15 18 21 24 27 30

M
Pa

0 0,1 0,2 0,3 0,4 0,5
Q = l/min
Q = l/sec

ba
r

4,5

0,0

0,5
1,0
1,5
2,0
2,5
3,0

3,5
4,0

5,0
0,45

0,00

0,05
0,10
0,15
0,20
0,25
0,30

0,35
0,40

0,50

5,50,55
6,00,60

0 3 6 9 12 15 18 21 24 27 30

M
Pa

0 0,1 0,2 0,3 0,4 0,5
Q = l/min
Q = l/sec

Metris
31494008

Logis
71410008

ba
r

4,5

0,0

0,5
1,0
1,5
2,0
2,5
3,0

3,5
4,0

5,0
0,45

0,00

0,05
0,10
0,15
0,20
0,25
0,30

0,35
0,40

0,50

5,50,55
6,00,60

0 3 6 9 12 15 18 21 24 27 30

M
Pa

0 0,1 0,2 0,3 0,4 0,5
Q = l/min
Q = l/sec

Vivenis
75410XX8

ba
r

4,5

0,0

0,5
1,0
1,5
2,0
2,5
3,0

3,5
4,0

5,0
0,45

0,00

0,05
0,10
0,15
0,20
0,25
0,30

0,35
0,40

0,50

5,50,55
6,00,60

0 3 6 9 12 15 18 21 24 27 30

M
Pa

0 0,1 0,2 0,3 0,4 0,5
Q = l/min
Q = l/sec

Durchflussdiagramm



6

E / S
13414008

98134000
(16x2,5)

97810000	
(M6x8)	
SW 3 mm

96472000 	
(G3/4)
SW 12 mm

97530000

13914000	
(M24x1)	
SW 22 mm

Metris
31494008

98128000	
(13x2)

98197000	
(20x1,5)

97660000	
(M6x6)	
SW 3 mm

97846000 	
(G3/4)
SW 8 mm 97530000

96512000	
(M 24x1)	
SW 22 mm

92754000
(Ø 65 mm)

Logis
71410008

98128000	
(13x2)

97766000

92851000	
(M5x8)	
SW 2,5 mm

92360000	
(M24x1)	
SW 22 mm

92504000 	
(G3/4)	
SW 8 mm

95283000 
(79 / 79 mm)

97530000

Vivenis
75410XX8

94509000

(M3x12)
SW 1,5 mm

97768000
(M5x6)
SW 2,5 mm

95393000 	
(G1/2)	
SW 8 mm

98128000	
(13x2)

92754XX0
(Ø 65 mm)

97530000

XX	 =	Colors

00	 =	Chrome

67	 =	Matt Black

70	 =	Matt White

Serviceteile



7

EN	 Cleaning recommendation / Warranty / Contact

www.hansgrohe.com/cleaning-recommendation

Reinigung



Hansgrohe · Auestraße 5 - 9 · D-77761 Schiltach · Telefon +49 (0)  78 36/51-1282 · Telefax +49 (0)  7836/511440 
E-Mail: info@hansgrohe.com · Internet: www.hansgrohe.com 03

/2
02

4
9.

07
65

5.
91

 




